Linear Motion Problems

1. A car moving at 5.0 m s-1 accelerates uniformly at 2.0 m s-2 for  

10 s.  Calculate (a) the final velocity, (b) the distance travelled.

2. A body starts at rest and accelerates at 3.0 m s-2 for 4.0 s.  Calculate (a) its final velocity, (b) the distance travelled.

3. A car moving with velocity 10 m s-1 accelerates uniformly at 

2.0 m s-2.  Calculate its velocity after travelling 200 m.

4. How far does a body travel in the fourth second if it starts from rest with a uniform acceleration of 2.0 m s-2?

5. It is required to uniformly accelerate a body from rest to a velocity of 12 m s-1 in a distance of 0.20 m.  Calculate the acceleration.

6. An object is dropped from a height of 45 m.  Calculate (a) the time to reach the ground, (b) its maximum velocity.  Neglect air resistance.  (Assume g = 9.8 m s-2).

7. A cricket ball is thrown vertically upwards with a velocity of 20 m s-1.  Calculate (a) the maximum height reached, (b) the time taken for it to return to the starting point.  Neglect air resistance.  

(Assume g = 9.8 m s-2).

